

## Registered Dietitian: Registration Examination for Dietitians

# Summary by Registration Eligibility Pathway for All Except State Licensure

January 1, 2020 to June 30, 2020

### 2,443 Candidates Taken 2,875 Tests

PEARSON CONFIDENTIAL

	Total Tested	Number Passing	% Passing	Number Failing	% Failing
oordinated Program					
Coordinated Program					
1st Attempt	299	221	73.9%	78	26.1%
2nd Attempt	67	23	34.3%	44	65.7%
3rd Attempt	51	14	27.5%	37	72.5%
4 or More Attempts	104	24	23.1%	80	76.9%
Total	521	282	54.1%	239	45.9%
ietetic Internship					
Dietetic Internship					
1st Attempt	1,292	915	70.8%	377	29.2%
2nd Attempt	319	126	39.5%	192	60.2%
3rd Attempt	219	70	32.0%	149	68.0%
4 or More Attempts	330	79	23.9%	251	76.1%
Total	2,160	1,190	55.1%	969	44.9%
uture Education Model - Graduate					
FEM - Grad					
1st Attempt	24	20	83.3%	4	16.7%
2nd Attempt	1	1	100.0%	0	0.0%
Total	25	21	84.0%	4	16.0%
preign Equivalency					
Canadian Dietitian					
1st Attempt	7	4	57.1%	3	42.9%
2nd Attempt	1	1	100.0%	0	0.0%
Total	8	5	62.5%	3	37.5%



## Registered Dietitian: Registration Examination for Dietitians

# Summary by Registration Eligibility Pathway for All Except State Licensure

January 1, 2020 to June 30, 2020

### 2,443 Candidates Taken 2,875 Tests

PEARSON CONFIDENTIAL

	Total Tested	Number Passing	% Passing	Number Failing	% Failing
ndividualized Supervised Practice Program					
CP - ISPP - DPD GRAD					
1st Attempt	8	3	37.5%	5	62.5%
2nd Attempt	1	1	100.0%	0	0.0%
4 or More Attempts	3	0	0.0%	3	100.0%
Total	12	4	33.3%	8	66.7%
DI - ISPP - DPD GRAD					
1st Attempt	14	5	35.7%	9	64.3%
2nd Attempt	5	1	20.0%	4	80.0%
3rd Attempt	4	0	0.0%	4	100.0%
4 or More Attempts	5	1	20.0%	4	80.0%
Total	28	7	25.0%	21	75.0%
DI - ISPP - PhD NO-DPD					
1st Attempt	3	1	33.3%	2	66.7%
2nd Attempt	1	0	0.0%	1	100.0%
Total	4	1	25.0%	3	75.0%
DPD - ISPP - DPD GRAD					
1st Attempt	35	19	54.3%	16	45.7%
2nd Attempt	14	7	50.0%	7	50.0%
3rd Attempt	14	2	14.3%	12	85.7%
4 or More Attempts	28	3	10.7%	25	89.3%
Total	91	31	34.1%	60	65.9%
DPD - ISPP - Phd NO DPD					
3rd Attempt	2	0	0.0%	2	100.0%
4 or More Attempts	2	1	50.0%	1	50.0%
Total	4	1	25.0%	3	75.0%
D Re-registration					
Re-registration RD					
1st Attempt	7	4	57.1%	3	42.9%
2nd Attempt	1	1	100.0%	0	0.0%
3rd Attempt	1	1	100.0%	0	0.0%
4 or More Attempts	2	0	0.0%	2	100.0%
Total	11	6	54.5%	5	45.5%



## Registered Dietitian: Registration Examination for Dietitians

# Summary by Registration Eligibility Pathway for All Except State Licensure

January 1, 2020 to June 30, 2020

### 2,443 Candidates Taken 2,875 Tests

PEARSON CONFIDENTIAL

	Total Tested	Number Passing	% Passing	Number Failing	% Failing
Reciprocity					
Canadian Reciprocity					
2nd Attempt	1	0	0.0%	1	100.0%
Total	1	0	0.0%	1	100.0%
Philippines Reciprocity					
1st Attempt	3	0	0.0%	3	100.0%
2nd Attempt	3	1	33.3%	2	66.7%
3rd Attempt	2	0	0.0%	2	100.0%
4 or More Attempts	2	0	0.0%	2	100.0%
Total	10	1	10.0%	9	90.0%
Grand Total					
1st Attempt	1,692	1,192	70.4%	500	29.6%
2nd Attempt	414	162	39.1%	251	60.6%
3rd Attempt	293	87	29.7%	206	70.3%
4 or More Attempts	476	108	22.7%	368	77.3%
Total	2,875	1,549	53.9%	1,325	46.1%



## Registered Dietitian: No Exams Delivered

# Summary by Registration Eligibility Pathway for All Except State Licensure

January 1, 2020 to June 30, 2020

### 0 Candidates Taken 0 Tests

PEARSON CONFIDENTIAL

	Total Tested	Number Passing	% Passing	Number Failing	% Failing
Didactic Program in Dietetics					
Not Applicable					
Total	0	0	0.0%	0	0.0%
Individualized Supervised Practice Program					
CP - ISPP - PhD NO-DPD					
Total	0	0	0.0%	0	0.0%
No Pathway RD					
Unknown Pathway RD					
Total	0	0	0.0%	0	0.0%
Reciprocity					
Dutch Reciprocity					
Total	0	0	0.0%	0	0.0%
Irish Reciprocity					
Total	0	0	0.0%	0	0.0%
Grand Total					
Total	0	0	0.0%	0	0.0%



## Dietetic Technician: Registration Examination for Dietetic Technicians

# Summary by Registration Eligibility Pathway for All Except State Licensure

January 1, 2020 to June 30, 2020

#### 232 Candidates Taken 246 Tests

PEARSON CONFIDENTIAL

	Total Tested	Number Passing	% Passing	Number Failing	% Failing
Didactic Program in Dietetics/Technician Program	1				
BS/DPD					
1st Attempt	141	93	66.0%	48	34.0%
2nd Attempt	20	7	35.0%	13	65.0%
3rd Attempt	4	0	0.0%	4	100.0%
4 or More Attempts	9	1	11.1%	8	88.9%
Total	174	101	58.0%	73	42.0%
CP W/DPD					
1st Attempt	1	1	100.0%	0	0.0%
Total	1	1	100.0%	0	0.0%
Dietetic Technician Program					
82 Tech - Standard					
1st Attempt	47	27	57.4%	20	42.6%
2nd Attempt	10	1	10.0%	9	90.0%
3rd Attempt	5	0	0.0%	5	100.0%
4 or More Attempts	7	1	14.3%	6	85.7%
Total	69	29	42.0%	40	58.0%
OT Re-registration					
Re-registration DT					
1st Attempt	1	1	100.0%	0	0.0%
3rd Attempt	1	1	100.0%	0	0.0%
Total	2	2	100.0%	0	0.0%
Grand Total					
1st Attempt	190	122	64.2%	68	35.8%
2nd Attempt	30	8	26.7%	22	73.3%
3rd Attempt	10	1	10.0%	9	90.0%
4 or More Attempts	16	2	12.5%	14	87.5%
Total	246	133	54.1%	113	45.9%



#### Dietetic Technician: No Exams Delivered

# Summary by Registration Eligibility Pathway for All Except State Licensure

January 1, 2020 to June 30, 2020

### 0 Candidates Taken 0 Tests

PEARSON CONFIDENTIAL

	Total Tested	Number Passing	% Passing	Number Failing	% Failing
Didactic Program in Dietetics/Technician Program					
MS/DPD					
Total	0	0	0.0%	0	0.0%
Prior RD w/DPD					
Total	0	0	0.0%	0	0.0%
Dietetic Technician Program					
86 Tech - BS and DPD					
Total	0	0	0.0%	0	0.0%
Future Education Model Bachelor's Program					
FEM - BS DT					
Total	0	0	0.0%	0	0.0%
No Pathway DTR					
Unknown Pathway DTR					
Total	0	0	0.0%	0	0.0%
Grand Total					
Total	0	0	0.0%	0	0.0%